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A% augs) sy |y | SoF | MEE | EE0A) SHEH) SHAA 2
(N:1) s= 45 ol H| 2 (%)

M XS stat 18 924 51.3 431 83.64 7 389
M-S A5kt 10 381 38.1 430 88.60 1 10.0
HMArgegseat 9 345 383 495 78.06 3 333
M7\ St 9 324 36.0 458 79.56 6 66.7
HA i =SSkt 9 366 40.7 412 86.06 2 222
EREE 9 334 37.1 458 80.78 5 55.6
AREEHYESSE 9 461 51.2 403 90.31 5 55.6
xtof ATZEQ OISR 9 447 497 3.85 89.94 6 66.7
HEggsts 9 407 452 452 80.17 5 55.6
Axstat 4 176 440 4.45 76.88 2 50.0
A=<t 4 160 40.0 436 73.88 3 75.0
otetS skt 9 480 53.3 3.84 83.17 5 55.6
stgSstat 4 168 420 3.86 70.75 0 0.0
=5t 5 177 354 3.67 75.90 4 80.0
HAtHO| @ =2l skt 6 228 38.0 438 77.50 3 50.0
ottt 6 253 422 3.85 79.83 0 0.0
XHAE M| 129 5,631 43.7 4.26 82.21 57 44.2
=03 =<t 3 113 37.7 463 82.50 1 333
Rl Rl gy 5 204 40.8 3.70 80.00 1 20.0
O|C|o{HFJ LA O] EsHF 9 580 64.4 411 82.94 2 22.2
Abet 4l 2| stat 5 252 50.4 3.84 83.60 1 20.0
oz SEO0hZ ot sHR 7 327 46.7 412 79.21 0 0.0
st 6 241 40.2 414 82.33 2 333
Hats 15 672 448 4.06 80.03 2 13.3
S Eles 4 166 415 3.75 78.88 0 0.0
dgsts 16 820 51.3 429 73.47 1 6.3
TH SR 7 323 46.1 441 83.43 0 0.0
QEAE HH 77 3,698 48.0 4.14 79.69 10 13.0
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